
Q.1 Select the most appropriate meaning of the given idiom.
Donkey’s years

Ans 1. Leisure time

2. Bad time

3. Long time

4. Good time

Question ID : 26433043082

Status : Answered

Chosen Option : 3

Q.2 Select the most appropriate ANTONYM of the highlighted word.
She has a penchant for art and craft.

Ans 1. anxiety

2. hatred

3. fear

4. joy

Question ID : 26433045492

Status : Answered

Chosen Option : 4

Q.3 Select the most appropriate ANTONYM of the highlighted word.
Hari’s intimate nature has earned him many friends.

Ans 1. timely

2. unfriendly

3. passionate

4. affectionate

Question ID : 26433045480

Status : Answered

Chosen Option : 2

Q.4 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.
I am not sure / if the red car / in the parking slot / is your.

Ans 1. if the red car

2. in the parking slot

3. is your

4. I am not sure

Question ID : 26433040040

Status : Answered

Chosen Option : 3
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Q.5 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.
I goes / to the school / every day / irrespective of the weather.

Ans 1. to the school

2. every day

3. irrespective of the weather

4. I goes

Question ID : 26433040046

Status : Answered

Chosen Option : 4

Q.6 Select the correct homonym from the given options to fill in the blank.
The police returned to the________of the crime.

Ans 1. cene 

2. seen 

3. scene 

4. zen

Question ID : 26433045543

Status : Answered

Chosen Option : 3

Q.7 Select the most appropriate synonym of the given word.
Ecstasy   

Ans 1. Mourning 

2. Appreciation

3. Bliss

4. Fantacy 

Question ID : 26433045448

Status : Answered

Chosen Option : 3

Q.8 Select the option that can be used as a one-word substitute for the underlined group
of words.
Several literary pieces of the Old English period are written by authors whose names
are not known.

Ans 1. Anonymous 

2. Undercover

3.  Anomalies

4. Renowned

Question ID : 26433045582

Status : Answered

Chosen Option : 1

Q.9 Select the INCORRECTLY spelt word.

Ans 1. Segregation

2. Jingoistic

3. Fecilitation

4. Resplendent

Question ID : 26433040084

Status : Not Answered

Chosen Option : --
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Q.10 Select the most appropriate synonym of the word given in the brackets to fill in the
blank.
The western side of the country has some ____________ (vacant) islands to explore.

Ans 1. unexplored  

2. uninterested  

3. uninhabited  

4. undesired  

Question ID : 26433045434

Status : Answered

Chosen Option : 3

Q.11 Select the most appropriate option that can substitute the underlined segment in the
given sentence.
People was empty out of the malls and roads.

Ans 1. was emptying out of  

2. was emptying of 

3. were emptying of 

4. were emptying out of

Question ID : 26433040127

Status : Answered

Chosen Option : 4

Q.12 From among the words given in bold, select the INCORRECTLY spelt word in the
following sentence.
And more than the muggings, the waiting to be mugged, fearing the dark that
transformed shoddy innocous side streets into giant fangs crouching, springing to

demolish this one last reminder.

Ans 1. shoddy

2. innocous

3. demolish

4. crouching

Question ID : 26433043169

Status : Answered

Chosen Option : 2

Q.13 Spot the error in the given sentence and select the correct sentence from the options
given.
Fatima and Sana has both taken the vaccine.

Ans 1. Fatima and Sana were both taken the vaccine

2. Fatima and Sana was both taken the vaccine. 

3. Fatima and Sana have both taken the vaccine. 

4. Fatima and Sana are both taken the vaccine.

Question ID : 26433040056

Status : Answered

Chosen Option : 3
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Q.14 Select the most appropriate option to substitute the underline segment in the given
sentence.
I called of an explanation for his rude behaviour.

Ans 1. called in

2. called into

3. called out

4. called

Question ID : 26433042815

Status : Answered

Chosen Option : 3

Q.15 Select the most appropriate meaning of the given idiom.
Go to the wall

Ans 1. To start

2. To fail

3. To obtain protection

4. To become strong

Question ID : 26433039982

Status : Answered

Chosen Option : 1

Q.16 Select the option that will improve the underlined part of the given sentence.
In this scene, a close-up shot was taken by the cameraman for display the emotions.

Ans 1. in order of emotions

2. in order to display the emotions

3.  for show of emotions

4. to show emotions

Question ID : 26433045389

Status : Answered

Chosen Option : 2

Q.17 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.
My boss keeps telling me / all the time / that money / doesn’t grows on trees.

Ans 1. My boss keeps telling me

2. all the time

3. doesn’t grows on trees

4. that money

Question ID : 26433040050

Status : Answered

Chosen Option : 3

Gov
tJo

bsA
ler

t.In

For More Updates Visit www.GovtJobsAlert.In

For More Updates Visit www.GovtJobsAlert.In



Q.18 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.
A.These great leaders never escaped from their responsibilities and challenges
because they knew greatness would come through great responsibilities.
B.Leadership is one of the crucial elements in the field of management because most
of the time success or failure depends on the managerial skills of a leader.
C.There are not many leaders in the present world because, unlike ancient times,
people are not ready to accept responsibilities.
D.Ancient India produced millions of people with leadership because it is an inner part
of Indian culture to create leaders in every sphere of life. Chandragupta Mourya,
Gandhi, Buddha, Bose etc. were leaders on this soil.

Ans 1. ADCB

2. ADBC

3. BCDA

4. BCAD

Question ID : 26433039811

Status : Answered

Chosen Option : 3

Q.19 Select the option that will improve the underlined part of the given sentence.
I would like to thank you for your coming out tonight.

Ans 1. for you will come out

2. for comes out

3. for coming out

4. for you came out

Question ID : 26433042855

Status : Answered

Chosen Option : 3

Q.20 Select the most appropriate synonym of the given word.
Disseminate

Ans 1. Facilitate

2. Merge

3. Circulate

4. Implement

Question ID : 26433043131

Status : Answered

Chosen Option : 2

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
personification gives (1) ________ qualities to non-living things or ideas. Imagery is a
language used by poets, novelists and other writers to create images in the mind of the (2)
_______. Rhyme scheme is the (3) ___________ that is created at the end of the lines of
poetry. Irony is defined as when (4) _________ meaning is completely (5) __________ from
the literal meaning.

SubQuestion No : 21

Q.21 Select the most appropriate option to fill in blank number 1.

Ans 1. human 

2. divine 

3. supernatural

4. animal 

Question ID : 26433043179

Status : Answered

Chosen Option : 2
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Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
personification gives (1) ________ qualities to non-living things or ideas. Imagery is a
language used by poets, novelists and other writers to create images in the mind of the (2)
_______. Rhyme scheme is the (3) ___________ that is created at the end of the lines of
poetry. Irony is defined as when (4) _________ meaning is completely (5) __________ from
the literal meaning.

SubQuestion No : 22

Q.22 Select the most appropriate option to fill in blank number 2.

Ans 1. humans 

2. actors 

3. speakers 

4. readers 

Question ID : 26433043180

Status : Answered

Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
personification gives (1) ________ qualities to non-living things or ideas. Imagery is a
language used by poets, novelists and other writers to create images in the mind of the (2)
_______. Rhyme scheme is the (3) ___________ that is created at the end of the lines of
poetry. Irony is defined as when (4) _________ meaning is completely (5) __________ from
the literal meaning.

SubQuestion No : 23

Q.23 Select the most appropriate option to fill in blank number 3.

Ans 1. visual 

2. word

3. pattern 

4. idea

Question ID : 26433043181

Status : Answered

Chosen Option : 3

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
personification gives (1) ________ qualities to non-living things or ideas. Imagery is a
language used by poets, novelists and other writers to create images in the mind of the (2)
_______. Rhyme scheme is the (3) ___________ that is created at the end of the lines of
poetry. Irony is defined as when (4) _________ meaning is completely (5) __________ from
the literal meaning.

SubQuestion No : 24

Q.24 Select the most appropriate option to fill in blank number 4.

Ans 1. superficial 

2. unintentional

3. common 

4. actual 

Question ID : 26433043182

Status : Answered

Chosen Option : 4
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Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
personification gives (1) ________ qualities to non-living things or ideas. Imagery is a
language used by poets, novelists and other writers to create images in the mind of the (2)
_______. Rhyme scheme is the (3) ___________ that is created at the end of the lines of
poetry. Irony is defined as when (4) _________ meaning is completely (5) __________ from
the literal meaning.

SubQuestion No : 25

Q.25 Select the most appropriate option to fill in blank number 5.

Ans 1. against 

2. different

3. parallel

4. similar 

Question ID : 26433043183

Status : Answered

Chosen Option : 2

Q.1 िदए गए समीकरण मŐ * िच˥ो ं को Ţिमक ŝप से बदलने और समीकरण को संतुिलत करने के िलए
गिणतीय िच˥ो ं के सही संयोजन का चयन कीिजए।
57*35*7*14*2*43

Ans 1. +, ÷,–,×, =

2. +,–, ×,÷, =

3. –,÷,+,×, =

4. ×, +, ÷,–, =

Question ID : 26433040603

Status : Answered

Chosen Option : 2

Q.2 उस िवकʙ का चयन कीिजए जो पांचवŐ पद से उसी Ůकार संबंिधत है िजस Ůकार दूसरा पद पहले पद
से और चौथा पद तीसरे पद से संबंिधत है।
786:7 :: 645:5 :: 282 :?

Ans 1. 5

2. 6

3. 8

4. 4

Question ID : 26433043564

Status : Not Answered

Chosen Option : --

Q.3 िदए गए संƥा युƵों मŐ दूसरी संƥा, पहली संƥा पर िनिʮत गिणतीय संिŢयाएँ करके Ůाɑ की जाती
है। एक संƥा युƵ को छोड़कर सभी संƥा युƵो ं मŐ समान संिŢयाएं की जाती हœ। वह असंगत संƥा
युƵ ǒात कीिजए।

Ans 1.  52 : 182

2. 26 : 91

3. 48 : 168

4. 34 : 118

Question ID : 26433045323

Status : Answered

Chosen Option : 4

Section : General Intelligence
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Q.4 उस िवकʙ का चयन करŐ जो चौथे पद से उसी Ůकार संबंिधत है िजस Ůकार पहला पद दूसरे पद से
संबंिधत है और पॉंचवां पद छठे पद से संबंिधत है।
8 : 512 :: ? : 1728 :: 18 : 5832

Ans 1.  12

2.  8

3.  9

4.  14

Question ID : 26433046012

Status : Answered

Chosen Option : 1

Q.5 िदए गए संƥा युƵों मŐ दूसरी संƥा पहली संƥा पर कुछ गिणतीय संिŢया(एँ) करके Ůाɑ की जाती है
। एक सं̏या यु̑म को छोड़कर शेष सभी संƥा युƵो ं मŐ समान संिŢया(ओ)ं का अनुसरण िकया जाता है
। वह असंगत संƥा युƵ ǒात करŐ।

Ans 1. 7 : 337 

2. 4 : 60

3. 5 : 120

4. 6 : 210

Question ID : 26433039314

Status : Answered

Chosen Option : 1

Q.6 उस िवकʙ का चयन करŐ जो पांचवी ं संƥा से उसी Ůकार संबंिधत है िजस Ůकार दूसरी संƥा पहली
संƥा से संबंिधत है और चौथी संƥा तीसरी संƥा से संबंिधत है।
9 : 109 :: 7 : 71 :: 13 : ?

Ans 1. 218

2. 238

3. 209

4. 229

Question ID : 26433045228

Status : Answered

Chosen Option : 3

Q.7 िनɻिलİखत मŐ से कौन-सी संƥा दी गई ŵंृखला मŐ Ůʲवाचक िच˥ (?) के ̾थान पर आएगी?
2, 22, 32, 42, 57, 87, 162, ?

Ans 1. 387

2. 365

3. 378

4. 356

Question ID : 26433045204

Status : Answered

Chosen Option : 1

Q.8 कौन सा अƗर-समूह दी गई ŵंृखला मŐ Ů̻न िच˥ (?) को Ůित̾थािपत करके ŵंृखला को पूरी करेगा?
CFJK, JMQR, QTXY, ?, EHLM

Ans 1. WZDF

2. XAEF

3. XBCG

4. WXEF

Question ID : 26433039018

Status : Answered

Chosen Option : 2
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Q.9 िदए गए समीकरण को सही बनाने के िलए िदए गए िवकʙों मŐ से िकन दो संƥाओं को आपस मŐ बदला
जाना चािहए?
15 – 4 + (8×6)÷16 + 9×3 – 7 = 31

Ans 1. 8 और 16

2. 4 और 3

3. 4 और 6

4. 6 और 16

Question ID : 26433043369

Status : Answered

Chosen Option : 3

Q.10

Ans

1. 

2. 

3. 

4. 

Question ID : 26433044958

Status : Answered

Chosen Option : 2
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Q.11

Ans

1. 

2. 

3. 

4. 

Question ID : 26433038587

Status : Answered

Chosen Option : 1

Q.12 यिद 01 माचŊ 2012 को बृह̾पितवार था, तो 01 फरवरी 2016 को सɑाह का कौन सा िदन था?
Ans 1. शुŢवार

2. शिनवार

3. रिववार

4. सोमवार

Question ID : 26433040684

Status : Answered

Chosen Option : 4
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Q.13

Ans

1. 

2. 

3. 

4. 

Question ID : 26433040509

Status : Answered

Chosen Option : 3
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Q.14 उस वेन आरेख का चयन कीिजए जो िनɻिलİखत वगŘ के बीच के संबंध का सबसे अ̓छा िचũण करता है
।
हाथ, पैर, ठोड़ी

Ans

1. 

2. 

3. 

4. 

Question ID : 26433040419

Status : Answered

Chosen Option : 2

Q.15

Ans
1. 

2. 

3. 

4. 

Question ID : 26433040561

Status : Answered

Chosen Option : 3

Q.16 एक िनिʮत कूट भाषा मŐ, 'TRAIN' को 'WUDLQ' और 'ROAD' को 'URDG' िलखा जाता है। उसी
भाषा मŐ 'TAXI' को कैसे िलखा जाएगा?

Ans 1. WFAL

2. WEAL 

3. WDBL

4. WDAL

Question ID : 26433045065

Status : Answered

Chosen Option : 4
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Q.17 िनɻिलİखत मŐ से कौन-सी संƥा दी गई ŵंृखला मŐ Ůʲवाचक िच˥ (?) के ̾थान पर आएगी?
45, 55, 72, 97, 131, ?

Ans 1. 189

2. 175

3. 179

4. 183

Question ID : 26433045226

Status : Answered

Chosen Option : 2

Q.18

Ans

1. 

2. 

3. 

4. 

Question ID : 26433040331

Status : Answered

Chosen Option : 3Gov
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Q.19

Ans 1. 

2. 

3. 

4. 

Question ID : 26433040391

Status : Answered

Chosen Option : 3

Q.20 उस िवकʙ का चयन कीिजए, जो पाँचवŐ पद से उसी Ůकार संबंिधत है, िजस Ůकार दूसरा पद पहले पद
से और चौथा पद तीसरे पद से संबंिधत है।

ABSENT : ANESBT :: NOTIFY : NFITOY :: LAUNCH : ?

Ans 1. LCAUNH

2. LCNHAU

3. LCNUHA

4. LCNUAH

Question ID : 26433040256

Status : Answered

Chosen Option : 4

Q.21 यिद 20 फरवरी 2013 को बुधवार था, तो 28 फरवरी 2016 को सɑाह का कौन सा िदन था?
Ans 1. शुŢवार

2. रिववार

3. बुधवार

4. सोमवार

Question ID : 26433040666

Status : Answered

Chosen Option : 4

Q.22 िदए गए संƥा युƵों मŐ दूसरी संƥा पहली संƥा पर एक िनİ̻ चत गिणतीय संिŢया(एँ) करके Ůाɑ की
गई है। एक सं̏या यु̑म को छोड़कर सभी संƥा युƵों मŐ समान गिणतीय संिŢया(ओ)ं का अनुसरण
िकया गया है। उस असंगत सं̏या यु̑म को ǒात करŐ ।

Ans 1. 24:528

2. 47:2116

3. 68:4488

4. 53:2703

Question ID : 26433043581

Status : Answered

Chosen Option : 2
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Q.23 एक िनिʮत कोड भाषा मŐ 'MATHS' को '13320819' और 'HINDI' को '82714427' िलखा जाता है।
उसी भाषा मŐ 'PHYSICS' कैसे िलखा जाएगा?

Ans 1. 168251923319

2. 168251927319

3. 168251928319

4. 168251937319

Question ID : 26433040768

Status : Answered

Chosen Option : 2

Q.24 एक िनिʮत कूट भाषा मŐ, 'BASKET' को '211911520' के ŝप मŐ कूटबȠ िकया जाता है और 'BOX'
को '21524' के ŝप मŐ कूटबȠ िकया जाता है। उस भाषा मŐ 'COVER' को कैसे कूटबȠ िकया जाएगा?

Ans 1. 31822518

2. 31522519

3. 31522518

4. 21522519

Question ID : 26433043410

Status : Answered

Chosen Option : 3

Q.25 उस िवकʙ का चयन करŐ जो उन अƗरो ं का िनŝपण करता है, िज̢हŐ नीचे ŵंृखला मŐ िदए गए įर̋त
̾थानो ं पर बाएं से दाएं Ţिमक ŝप से रखने पर ŵंृखला पूणŊ हो जाएगी।
m n _ m n _ o m _ m_ nn o m _ m m _ n o

Ans 1. o n n m n n

2. m n n m n n

3. m n o m n n

4. m n n m o o

Question ID : 26433043390

Status : Answered

Chosen Option : 2

Q.1 एक संƥा मŐ 10% की वृİȠ की जाती है और िफर बढ़ी Šई संƥा मŐ 20% की कमी की जाती है। शुȠ
वृİȠ या कमी िकतनी Šई है?

Ans 1. 12% की वृİȠ

2. 2% की कमी

3. 18% की कमी

4. 12% की कमी

Question ID : 26433041659

Status : Answered

Chosen Option : 4

Q.2

Ans 1. 2

2. 4

3. 5

4. 1

Question ID : 26433042547

Status : Answered

Chosen Option : 3

Section : Quantitative Aptitude
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Q.3

Ans 1. 2

2. 3

3. 4

4. 1

Question ID : 26433042747

Status : Answered

Chosen Option : 3

Q.4 52 लड़िकयो ं का औसत वजन 47 kg है। उनके वजनो ं का योग Ɛा होगा?
Ans 1. 2544 kg

2. 2444 kg

3. 2458 kg

4. 2454 kg

Question ID : 26433038674

Status : Answered

Chosen Option : 2

Q.5 45 िवȨािथŊयो ं की एक कƗा मŐ 20 लड़िकयां हœ, िजɎोनें 50 अंको ं की एक परीƗा मŐ औसत 42 अंक
Ůाɑ िकए हœ। यिद कƗा के अंको ं का औसत 36 है, तो लड़कों के औसत अंक Ɛा हœ?

Ans 1. 32.10

2. 30.80

3. 32.50

4. 31.20

Question ID : 26433039337

Status : Answered

Chosen Option : 4

Q.6 िकसी िवʷिवȨालय के वािणǛ पाǬŢम मŐ Ůवेश लेने वाले छाũो ं की संƥा मŐ Ůित वषŊ 5% की वृİȠ
होती है। यिद वतŊमान मŐ उस पाǬŢम मŐ Ůवेश लेने वाले छाũो ं की संƥा 2400 है, तो तीन वषŘ के बाद,
Ůवेश लेने वाले छाũो ं की संƥा िकतनी होगी? (िनकटतम पूणाōक मŐ)

Ans 1. 2775

2. 2770

3. 2780

4. 2778

Question ID : 26433044203

Status : Answered

Chosen Option : 4

Q.7

Ans 1. 

2. 

3. 

4. 

Question ID : 26433041446

Status : Answered

Chosen Option : 4
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Q.8 एक ऋण को दो समान वािषŊक िकˑों मŐ चुकाया जाना है। यिद ɯाज की दर 10% वािषŊक है, जो वािषŊक
ŝप से चŢवृİȠ होती है और Ůȑेक िकˑ ₹6,897 की है, तो िलया जाने वाला कुल ɯाज ǒात कीिजए।

Ans 1. ₹1,824

2. ₹1,914

3. ₹1,734

4. ₹1,644

Question ID : 26433042437

Status : Answered

Chosen Option : 1

Q.9

Ans 1. 47 : 31

2. 41 : 37

3. 37 : 41

4. 31 : 47

Question ID : 26433038634

Status : Answered

Chosen Option : 4

Q.10 9 ÷ [5 +7 ÷ {9 + 9 ÷ (9 + 9 ÷ 4)}] = ?

Ans
1. 

2. 

3. 

4. 

Question ID : 26433041511

Status : Answered

Chosen Option : 1
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Q.11

Ans 1. 170

2. 38

3. 76

4. 19

Question ID : 26433041410

Status : Answered

Chosen Option : 4

Q.12 तराजू मŐ Šई खराबी के कारण 1 kg के बजाय 900 g तौलने की वजह से एक दुकानदार एक िनिʮत
लेनदेन मŐ समाɊतः 20% का लाभ होता है। यिद वह वˑु के मू̵य को सामाɊ मूʞ से 10% कम कर
देता है, तो उसका वाˑिवक लाभ या हािन Ůितशत ǒात कीिजए।

Ans 1. 20%

2. 30%

3. 28%

4. 25%

Question ID : 26433041661

Status : Answered

Chosen Option : 3

Q.13 एक समबाŠ िũभुज की पįरिũǛा 18 cm है, तो इसकी अंतःिũǛा की माप __________ है।
Ans 1. 9 cm

2. 10 cm

3. 12 cm

4. 3 cm

Question ID : 26433039186

Status : Answered

Chosen Option : 1

Q.14 एक ʩİƅ और उसके पुũ की औसत आयु 56 वषŊ है। उनकी आयु का अनुपात 11 : 5 है। पुũ की आयु
ǒात करŐ।

Ans 1. 35 वषŊ

2. 30 वषŊ

3. 32 वषŊ

4. 40 वषŊ

Question ID : 26433042682

Status : Answered

Chosen Option : 1
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Q.15

Ans 1. हैदराबाद

2. चेɄई

3. कोलकाता

4. भोपाल

Question ID : 26433038892

Status : Answered

Chosen Option : 3

Q.16 िनɻिलİखत मŐ से कौन-सी संƥा 33 Ȫारा िवभाǛ है?

Ans 1. 164461 

2. 171116 

3. 185592 

4. 178750 

Question ID : 26433043922

Status : Answered

Chosen Option : 3

Q.17 एक मोबाइल पर उसके Ţय मूʞ से 25% अिधक मूʞ अंिकत िकया गया है। 10% का लाभ कमाने के
िलए इसे िकतने Ůितशत छूट पर बेचा जाना चािहए?

Ans 1. 13%

2. 12%

3. 11%

4. 10%

Question ID : 26433042695

Status : Answered

Chosen Option : 2

Q.18 शीषŘ (-3,2),(5,4),(7,-6) और (-5,-4) से बने चतुभुŊज के Ɨेũफल की गणना कीिजए।
Ans 1. 160 वगŊ इकाई

2. 0 वगŊ इकाई

3. 80 वगŊ इकाई

4. 150 वगŊ इकाई

Question ID : 26433041609

Status : Not Answered

Chosen Option : --
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Q.19 जैसे ही हवा एक गोलाकार गुɬारे मŐ भरी जाती है, इसकी िũǛा 7 cm से बढ़कर 14 cm हो जाती है।
दोनो ं पįरİ̾थितयो ं मŐ गुɬारे का आयतन अनुपात ǒात कीिजए।

Ans 1. 1 : 9

2. 3 : 7

3. 2 : 5

4. 1 : 8

Question ID : 26433044058

Status : Answered

Chosen Option : 4

Q.20 एक आदमी और एक लड़का िमलकर एक िनिʮत माũा मŐ खुदाई का काम 24 िदनो ं मŐ कर सकते है।
उनकी खुदाई की गित का अनुपात 4 : 3 है। लड़का अकेले वह काम पूरा करने मŐ िकतने िदन का समय
लगाएगा?

Ans 1. 56 days

2. 52 days

3. 60 days

4. 26 days

Question ID : 26433039179

Status : Answered

Chosen Option : 1

Q.21

Ans 1. 877.04 cm2

2.  888.04 cm2

3. 878.04 cm2

4. 887.04 cm2

Question ID : 26433044304

Status : Answered

Chosen Option : 4

Q.22 The marked price of a mobile phone is ₹36,000.A shopkeeper gives a discount of 11%
on the marked price. Further, if a customer purchases it through credit card the
discount increases by 15%.Pooja purchases it through the credit card. How much
does she pay?

Ans 1. ₹32,000

2. ₹30,600

3. ₹31,000

4. ₹30,880

Question ID : 26433041479

Status : Answered

Chosen Option : 2
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Q.23 सूरज बस Ȫारा 31 km/h की चाल से 124 km, कार Ȫारा 16 km/h की चाल से 96 km और कार Ȫारा
ही 7 km/h की चाल से अɊ 105 km की याũा करता है। तय की गई कुल दूरी के िलए उसकी औसत
चाल ǒात कीिजए।

Ans 1. 15 km/h

2. 18 km/h

3. 13 km/h

4. 21 km/h

Question ID : 26433042441

Status : Answered

Chosen Option : 3

Q.24

Ans 1. B

2. C

3. A

4. D

Question ID : 26433039222

Status : Answered

Chosen Option : 4

Q.25 5, 8 और 30 का चौथा समानुपाती Ɛा होगा?
Ans 1. 48

2. 60 

3. 50

4. 90

Question ID : 26433039239

Status : Answered

Chosen Option : 1

Q.1 िनɻिलİखत मŐ से िकसने 'हाय-डांस' नामक अपनी नृȑ शैली बनाई, बाद मŐ उɎोनें इसका नाम
बदलकर 'िŢएिटव डांस' कर िदया?

Ans 1. राजŐū शंकर

2. रिव शंकर

3. देबŐū शंकर

4. उदय शंकर

Question ID : 26433044606

Status : Not Answered

Chosen Option : --

Section : General Awareness
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Q.2 2021 मŐ सािहȑ के नोबेल पुरˋार के ŮाɑकताŊ कौन थे?

Ans 1. अɨुलरज़ाक गुरनाह

2. पीटर हœडके

3. लुईस Ƹुक

4. बॉब डायलन

Question ID : 26433039605

Status : Answered

Chosen Option : 1

Q.3 िनɻिलİखत मŐ से कौन-सी भारतीय संिवधान की संघीय िवशेषता नही ं है?

Ans 1. शİƅयों का िवभाजन

2. िलİखत संिवधान

3. अİखल भारतीय सेवाएं

4. दोहरी सरकार

Question ID : 26433038729

Status : Answered

Chosen Option : 4

Q.4 भारत मŐ ̾थािपत पहला Ɨेũीय Ťामीण बœक __________ था।
Ans 1. Ťामीण बœक

2. िवकास बœक

3. आरोहण बœक

4. Ůथमा Ťामीण बœक

Question ID : 26433042131

Status : Answered

Chosen Option : 4

Q.5 ‘मेरी कहानी (संपूणŊ)’ (‘An Autobiography’) ____________ की आȏकथा का नाम है।
Ans 1. सुभाष चंū बोस

2. सरदार वʟभभाई पटेल

3. महाȏा गांधी

4. जवाहरलाल नेहŝ

Question ID : 26433041901

Status : Answered

Chosen Option : 4

Q.6 िकस भारतीय İखलाड़ी को Ůितिʿत लॉįरयस वʒŊ ŰेकŪू ऑफ द ईयर अवाडŊ 2022 के िलए नामांिकत
िकया गया है?

Ans 1. पी. वी. िसंधु

2. िमताली राज

3. नीरज चोपड़ा

4. िवराट कोहली

Question ID : 26433042038

Status : Answered

Chosen Option : 3
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Q.7 जȶुओं के िकस समूह के शरीर की दीवार वतुŊलाकार और अनुदैȯŊ मांसपेशी तंतुओ,ं दोनो ं से बनी होती
है, जो एक नम, कोिशकीय Ɛूिटकल से िघरी होती है जो एक एिपडमŊल एिपथीिलयम Ȫारा ŷािवत होती
है?

Ans 1. आŪŖपोडा

2. एनेिलडा

3. सीलȴŌ ेटा

4. ɘेटीहेİʝȺीज़

Question ID : 26433044739

Status : Not Answered

Chosen Option : --

Q.8 िकस Ůकार का काबŖहाइडŌ ेट जठरांũ पथ (जीआई टŌ ैƃ) Ȫारा तोड़ा नही ं जा सकता है, ऊजाŊ Ůदान नही ं
करता है, लेिकन शरीर से अपिशʼ पदाथŘ को बाहर िनकालने मŐ मदद करता है और आंũ पथ को ˢ̾थ
रखता है?

Ans 1. ːाचŊ

2. Ƹाइकोजन

3. शकŊ रा

4. फाइबर

Question ID : 26433044837

Status : Answered

Chosen Option : 2

Q.9 भारत के एक ŮिसȠ संगीतकार एस बालचंदर को िनɻिलİखत मŐ से कौन सा वाȨ यंũ बजाने के िलए
जाना जाता है?

Ans 1. वीणा

2. घटम

3. तबला

4. िसतार

Question ID : 26433041716

Status : Answered

Chosen Option : 4

Q.10 िनɻिलİखत मŐ से िकस िŢकेटर ने IPL 2021 मŐ ऑरŐज कैप जीती?
Ans 1. Ŝतुराज गायकवाड

2. हषŊल पटेल

3. के.एल. राŠल

4. वŐकटेश अʊर

Question ID : 26433038926

Status : Answered

Chosen Option : 1

Q.11 जलीय पादपो ं और जȶुओं Ȫारा िकए जाने वाले अनुकूलन का तरीका Ɛा है, िजसमŐ शरीर के तरल
पदाथŘ की परासरणी सांūता पįरवेशी वायु और जल की परासरणी सांūता के साथ बदल जाती है? 

Ans 1. Ůवास

2. िविनयमन

3. संŝपण

4. िनलंबन

Question ID : 26433039445

Status : Answered

Chosen Option : 2
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Q.12 कलैमामिण पुरˋार भारत के िनɻिलİखत मŐ से िकस राǛ मŐ िदए जाते हœ?
Ans 1. तिमलनाडु

2. केरल

3. ओिडशा

4. तेलंगाना

Question ID : 26433042267

Status : Not Answered

Chosen Option : --

Q.13 भारतीय िŢकेट कंटŌ ोल बोडŊ की ̾थापना िकस वषŊ मŐ Šई थी?
Ans 1.  1928 

2. 1948

3. 1938

4. 1958 

Question ID : 26433042194

Status : Not Answered

Chosen Option : --

Q.14 संगीत िनदőशक आर सी बोराल और पंकज मिलक ने िहंदी िफʝों मŐ पहला पा Ŋ̫ गीत िकस वषŊ įरकॉडŊ
िकया था?

Ans 1. 1939

2. 1941

3. 1935

4. 1943

Question ID : 26433041737

Status : Not Answered

Chosen Option : --

Q.15 ______________ सरकार ने वįरʿ नागįरको,ं एकल मिहलाओ,ं िदʩांग ʩİƅयो ं और HIV/AIDS
रोिगयो ं के िलए दयानंद सामािजक सुरƗा योजना 2022 शुŝ की।

Ans 1. गोवा

2. कनाŊटक

3. महारा Ō̓

4. केरल

Question ID : 26433044421

Status : Answered

Chosen Option : 3

Q.16 उȅरी मȯ िहमालय पवŊत ŵंृखला (1801 से 3001 m) और दिƗणी नीलिगįर उǄ पवŊत ŵंृखलाओं मŐ
िकस Ůकार के पेड़ पाए जाते हœ?

Ans 1. ओक, जुिनपर, मेपल

2. शीशम, महोगनी, बांस

3. कुसुम, अजुŊन, शहतूत

4. सागौन, साल, पीपल

Question ID : 26433044855

Status : Answered

Chosen Option : 2
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Q.17 फुटबॉल मैच के दौरान मैदान पर एक टीम मŐ अिधकतम िकतने İखलाड़ी हो सकते हœ?
Ans 1. 11

2. 12

3. 10

4. 9

Question ID : 26433044507

Status : Answered

Chosen Option : 1

Q.18 िकस वायिलन वादक को वषŊ 2021 मŐ पंिडत भीमसेन जोशी लाइफटाइम अचीवमŐट अवाडŊ से सʃािनत
िकया गया?

Ans 1. एन. राजम

2. नंिदनी मुथुˢामी

3. ǛोȖना ŵीकांत

4. लालगुडी िवजयलƘी

Question ID : 26433044588

Status : Not Answered

Chosen Option : --

Q.19 पȧ ŵी से सʃािनत शोभना चंūकुमार िनɻिलİखत मŐ से िकस भारतीय शा˓ीय नृȑ की नृȑांगना हœ?
Ans 1. कथक

2. ओिडसी

3. मिणपुरी

4. भरतनाǨम

Question ID : 26433042270

Status : Not Answered

Chosen Option : --

Q.20 कौन-सी नदी का बेिसन 65,145 km2 के Ɨेũफल मŐ फैला है, िजसमŐ से लगभग 80% महारा Ō̓ मŐ İ̾थत
है?

Ans 1. गोदावरी

2. नमŊदा

3. तापी

4. कृˁा

Question ID : 26433044797

Status : Answered

Chosen Option : 1

Q.21 भरतनाǨम नृȑ के िनɻिलİखत मŐ से िकस Ůितपादक को वषŊ 2004 मŐ ůांस सरकार से 'शेवेिलयर
ऑफ आट्Ŋस एंड लेटसŊ अवाडŊ' Ůदान िकया?

Ans 1. सोनल मानिसंह

2. मİʟका साराभाई

3. मृणािलनी साराभाई

4. अलरमेल वेʟी

Question ID : 26433041762

Status : Answered

Chosen Option : 3
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Q.22 िनɻिलİखत मŐ से िकस İखलाड़ी ने ‘द रेस ऑफ माई लाइफ’ शीषŊक अपनी आȏकथा िलखी?
Ans 1. मैरी कॉम

2. किपल देव

3. युवराज िसंह

4. िमʍा िसंह

Question ID : 26433041906

Status : Answered

Chosen Option : 4

Q.23 नािभकीय ऊजाŊ के उȋादन के िलए महȕपूणŊ खिनजों मŐ से एक ----------- है।
Ans 1. कोयला

2. मैगनीज़

3. अűक

4. यूरेिनयम

Question ID : 26433039657

Status : Answered

Chosen Option : 4

Q.24 िनɻिलİखत मŐ से कौन िह̢दुˑानी शा˓ीय संगीत के/की एक भारतीय गायक/गाियका हœ?
Ans 1. शुभा मुȜल

2. एल सुŰ˦ǻम

3. िकशन महाराज

4. Ȫारम वŐकटˢामी नायडू

Question ID : 26433041934

Status : Not Answered

Chosen Option : --

Q.25 1869 मŐ, िकसने एक नए शɨ 'ओकोलॉजी (Oecologie)' का Ůितपादन िकया, जो जीवो ं के उनके
पयाŊवरण के साथ संबंधो ं के अȯयन को पįरभािषत करता है?

Ans 1. यूजीन ओडुम

2. आथŊर टैɌली

3. अɍŊ हेकेल

4. चाʤŊ एʐन

Question ID : 26433044761

Status : Not Answered

Chosen Option : --Gov
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